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SAMPLE A

For what value of x is AABC ~ ADEF ?

B

72"

36

D

15



SAMPLE B

What is the total number of lines of symmetry for this figure?




Let p represent
Two angles are vertical angles.
Let g represent
The angles are congruent,
What is the symbolic representation of the following statement?
If two angles are congruent, then the angles are vertical angles.
JA g—p
_ B p—+q
V€ ~—~pP

0D ~p—n~q
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Beth is drawing the perpendicular bisector of ST.

W-
Y
.
S 3
. ™
Z

Which point is on the perpendicular bisector of ST ?
_ AW
OB X
JCY

- D Z
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In this figure, parallel lines « and b are intersected by line .

(1R

Which pair of angles is NOT supplementary?

_ A Z1and £6
B 73 and £8
J € Z2 and 27

D Z4 and £6
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What type of construction is illustrated in the figure?

A The bisection of 2D

B The bisection of 8D

C An angle congruent to £ D)

D A line segment congruent to AB

A

+
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Directions: Click on the diagram to place a™ = " in each region you want to select. You must select all correct regions.

This Venn diagram represents students who play instruments in the orchestra.

Instruments

Identify each region of the Venn diagram that represents students who play only the flute and
the oboe.
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An angle congruent to angle 4 is being constructed.

Which ray could be drawn to construct an angle congruentto # A ?

BC

BD

=
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Which diagram shows a pair of angle measures that prove lines @ and b are parallel?

[ .. . |
m/ / RVAVAS

L L el L,
77 /7
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Which is a valid conclusion that can be drawn from these statements?

If a quadrilateral is a rhombus, then it is a parallelogram.
If a quadrilateral is a parallelogram, then its opposite angles are congruent.

_ A Every quadrilateral is a rhombus.
_ B Every parallelogram is a rhombus.
(L € Opposite angles of a rhombus are congruent.

_ D Opposite angles of a quadrilateral are congruent.
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This figure shows parallel stair railings through points M, N, P, and Q.

Mg,

61°

M N f = 0

What is the value of x ?
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Given: 5(~1, 8) and 7(7,9)

Y

= -.'l".E.I;IId:l’P..‘15

L~

‘mcnw&:m.l';rhbh'.ar—-o P Ld LN
~

What is the length of ST ?

......
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Directions: Click on the grid to plot the point you want to select. You must plot a point other than point P.

Line 7 contains the points { 8, 5) and (8, —3). Plot a point other than point P with integral
coordinates that is on a line parallel to 7 and passes through point P.
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Which best describes the construction in the diagram shown?

{r

_ A The bisector of a line segment
_ B A line segment congruent to a given line segment
_ € A perpendicular to a given line at a point on the line

. D A perpendicular to a given line from a point not on the line
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Which is the inverse of the following statement?
If the measure of an angle is 90°, then it is a right angle.
_ A If the measure of an angle is not 90°, then it is not a right angle.
_ B If the measure of an angle is not 90°, then it is a right angle.
. € If an angle is not a right angle, then its measure is not 90°.

~ D If an angle is a right angle, then its measure is 90°,
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Quadrilateral TUVHW is shown.

o b )
o] == U Ln g ‘-.Il:l:l'l-ﬂ’,t

et
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Lud

987654321
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1
)
[

If TUVW is reflected across the line y = x, what are the coordinates of V' ?

A (8,-3)
o B (3,8)
O € (-3,-8)
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Directions: Type your answer in the box.

Lines r and s are cut by a transversal.

143°
(3x+14)°

What value of x proves that r |l s ?
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Given: P(5,7) and T(-3, 3)
What is the slope of PT ?
A

—2

"1
2

1

2

P
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For which polygon are both x = —1 and y = —2 lines of symmetry?

17 of 50

F k
a1 ] il
e 1
T T
o e
L]

£ af ]
s
i =
+ CRapaE. B 0 h
i =
™ ™
] al
i [
v
] T
1 0
o= Ll
0 0
T r
o] =0
P 0
| Al

L

4 L
o] T
]

T

L= o
) cal
&) =
| ¥ “

- ERE B e o oh
— —
1 v
o “j
1 [
vy ]
1 v
P

v v
"

]

' ¥
T ]
1 v
] =]
i i

¥ vl
L ¥




The figure represents a ramp with handrails. Segments .4 B and DE are parallel to GH. Segments
BC and EF are parallel to HJ. Segments 4G and BH are paraliel to C.J.

A

D

/

115°

/

IfmZJCB =115°, whatis mZCBA ?
- A 65°
o B 90°
2 C 115°

> D 155°
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Reuben attached a wire between two poles on a hill as shown.

-

Which is closest to x, the distance between the two poles?

) A 271t

B 291t

) € 60 ft

D 75 ft 19 of 50
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L

Triangles ABE, ADE, and CBE are shown on the coordinate grid, and all the vertices have

coordinates that are integers.

W

5 -4 9= \1 2 5
A D
-2
-3
-4

Which statement is true?

A No two triangles are congruent.
B Only AABE and ACBE are congruent.

C Only AABE and A ADE are congruent.

D Triangle ABE, AADE, and ACBE are all congruent.
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Directions: Click and drag each selected number to the correct box.

The lengths of two sides of a triangle are 24 inches and 43 inches. What is the range of possible
lengths, in inches, for the third side, .x, of this triangle?

< X<
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Which of the following sets of lengths can represent the measures of the sides of a right triangle?
JA 456
O B 5,12, 15
® € 8 10,17

D 20,21, 29
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Given the measures shown in the diagram, which two triangles are congruent?

45°
65°
10
0 R
45° 60°
10
65°

10

e "\

. A QandS
B RandT
( €C Rands

D QandT
23 of 50



Part of a marching band formed a triangle made with trumpet players on one side, clarinet
players on one side, and flute players on the third side.

¢ The angle formed by the trumpet and flute players measured 45°,
* The angle formed by the flute and clarinet players measured 68°.

Which orders the sides of this triangle from least to greatest using the instrument names?
_ A Clarinet, trumpet, flute
— B Clarinet, flute, trumpet

_ € Trumpet, flute, clarinet

(' D Flute, trumpet, clarinet
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An equilateral triangle is folded in half.

:

— X
Euﬂ Enﬁ J-
—14 cm —|

What is x, the height of the equilateral triangle?

_ A 143 cm

i B 14am

)€ 7J3cm

~ D 7cm
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Look at this triangle.

55cm

Which triangle is similar to the given triangle?

3cm
; 2.25cm
YA 4125cm 4125cm “ € e
3.61cm
4 cm
B J D
4 ¢cm
& 55cm
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Directions: Click and drag each selected reason to the correct box.

Given: Figure 4 BCD with diagonal AC
AB=DC;BC=AD

Complete the proof of AABC = ACDA by selecting the reasons for the last two statements.

| Definition of ‘
congruent triangles
Statements Reasons Reflexive property ‘

AB=DC; BC=AD Given | Side-Angle-Side ‘

(SAS) Theorem
AC=AC | side-Side-Side ‘
(555) Theorem .
AABC = aCDA " Hypotenuse-leg |
(HL) Theorem |

27 of 50



A spectator is viewing the six cars of a roller coaster as it travels down a hill at an amusement park.

— 20 ft—

Which is closest to the total length of the six cars?

_ A 1231t
O B 158ft
) € 25.6ft

O D 325t
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Three triangles that do not overlap are shown on the coordinate grid. The coordinates of all

vertices are integers.

Which statement is true?

~ A AABD ~ AEBA
B AABD ~aADBC
_ € ACBD ~ AABE
D aCBD ~ AEBA

y

E

; D
4

3

: B

EIRE oON1T 4 3 4 5°

1
2
3
S| E
o

N

29 of 50



r

Using the information given, which congruence postulate or theorem can be used to
prove that APOR = ATSR ?

A Side-Side-Side Postulate
B Side-Angle-Side Postulate
» € Hypotenuse-Leg Theorem

D Angle-Angle-Side Theorem

30 of 50



Which could be the lengths of three sides of a triangle?

~ A 6cm, 14cm, 8cm
o B 9cm, 11cm, 21 cm
~ € 85cm, 17 cm, 10.6 cm

—~ D 14cm, 4.7 cm, 4.7 cm

31 0of 50



Given: O lies on PR and S lies on RT

;g R

Which condition proves APRT ~ AQRS ?
O A ZPQS = /TSQ

) B LPTR= £LTPR

cB_K
PT ~ SR

OR _ SR
" PR TR

L

L
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Directions: Type your answer in the box.

Given: Parallelogram ORST where R = 6x —5and RS = 4x +13

0 T

6x—-5

R 4x413 5

What value of x proves this parallelogram is a rhombus?

X =i
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The floor plan for a modern home is modeled by the composite of the regular nonagon
and triangle shown.

What is the measure of / JKL ?
) A 150°

- B 160°

) € 165°

. D 175°
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Given: Circle P with center at(~4, 1)
Which equation could represent circle P ?
A (x—4Y +(v=1Y =41
OB (x—4Y+(y+1¥ =41
OC(x+4Y+(y—-1¥ =41

oD (x+4Y +(y+1Y =41
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This container is composed of a right circular cylinder and a right circular cone.

10 ft

— 24—

Which is closest to the surface area of the container?

O A 490 ft2
U B 754 ft2
O C 1,243 ft?

O D 1,696 ft?
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Given: Circle .J

What is the value of y ?

=2 A 38
=~ B 50
C 88

o D 92
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A cell phone box in the shape of a rectangular prism is shown. The height of the box is 4 cm.

Original Box

4emf |_, gfi\:m

The height of the original box will be increased by 3.5 centimeters so a hew instruction manual
and an extra battery can be included. Which is closest to the total surface area of the new box?

o A 479 cm?

i B 707 cm?

C 738 cm?

o D 959 cm?
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Parallelogram ABCD is a rhombus with m/ EBC = 36°.

A B

Whatisthem/ZDAE ?

A 36°
- B 54°
- € 108°

~ D 144°
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Circle O has a center at (2, —2) and a diameter of 10 units.
Which point lies on circle O ?

_ A (-6, -5)
OB (-2, -2)
U € (6,4)

o D (8,8)
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An architect used this diagram to design a curved balcony. She drew a circle with a radius of
40 feet and a central angle of 70° to determine the length of railing needed for the balcony.

Railing

= -

Which is closest to the length of railing needed for the curved section of the balcony?

A 241t

B 49 ft

) € 2511t

o D 977 ft
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A polygon is shown.

1507

What is the measure of S/ ?

) A 60°

~ B 90°

L € 120°

~ D 240°
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The volume of a cube is 64 cubic centimeters. What is the surface area of the cube?
_ A 16cm?
~ B 96cm’
J) € 256cm?

o D 384cm?
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The diagonals of rectangle KLAMN intersect at the point (2, 1). One of the vertices of rectangle
KLMN is located at (-4, 5).

-

&
*-'ull.?ﬂll""-hﬂl\f-dl'l-ihlh-l-l-.'cu I—*MLJJ-IHU‘IC‘I‘-JNI.I'Jri
¥
-

Which of the following could be the location of another vertex of this rectangle?

A (B, =3)
BB (3,71)
@ C (~2,3)

44 of 50
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Given: Circle P

Which is closest to the area of the shaded sector of circle P ?

_ A 11 cm?
_ B 28 cm?
) € 50 cm?

o D 78 cm?
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Directions: Click and drag each selected number to the correct box.

The ratio of the lengths of the radii of two spheres is 3:5. What is the ratio of the volumes of
these two spheres?
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This figure is composed of an isosceles trapezoid and a regular octagon.

What is the value of x ?

. A 100

B 125

€ 135

. D 190
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Directions: Click on the grid to plot the point you want to select.

Plot the center of the circle defined by the equation (x +4)? + (v —5)* = 3%

ot
L]
b

Q-8B -7-6-5 -3 - 234567849

=

]

B o= Ch LN B L R =) R w s n G s ®ol

PR
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A rectangular pyramid is shown.

What is the volume of the pyramid?

o A 864 cm?
_ B 432 cm?
(U C 288 cm?

O D 108 cm?
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A company is creating a new cylindrical container to replace its original cylindrical container.

* The new container will have 4 times the volume of the original container.
e The height of the new container will remain the same as the height of the original container.

The length of the radius of the new container will be —

' A 2 times the length of the radius of the original container

B 4 times the length of the radius of the original container
C 8 times the length of the radius of the original container

D 16 times the length of the radius of the original container

50 of 50



Geometry

Released Test Spring 2014

Answer Key
Item Type:
Multiple Choice
Sequence MC) or Reportin . . L.
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TEI)
1 MC A 001 Reasoning, Lines, and Transformations
2 MC B 001 Reasoning, Lines, and Transformations
3 MC C 001 Reasoning, Lines, and Transformations
4 MC A 001 Reasoning, Lines, and Transformations
5 TEI The region that is common to both the Oboe circle and the Flute circle, 001 Reasoning, Lines, and Transformations
but no other circle, as shown in the image below. This region, and only
this region, must contain a star.
Directions: Click on the diagram to place a™ * " in each region you want to select. You must select all correct regions.
This Venn di who play inst in the orchestra.
Instruments
/4/’, Xﬁ\\\
/Clarinet / ‘.‘I Oboe ‘)
VT R Ry
P ey T }
= gy el
Identify each region of the Venn diagram that represents students who play only the flute and
the oboe.
6 MC A 001 Reasoning, Lines, and Transformations
7 MC B 001 Reasoning, Lines, and Transformations

Geometry
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Item Type:
Multiple Choice
Sequence MC) or Reportin . . .
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TEID)
8 MC C 001 Reasoning, Lines, and Transformations
9 MC C 001 Reasoning, Lines, and Transformations
10 MC D 001 Reasoning, Lines, and Transformations
11 TEL Any ONE of these points must be plotted on the coordinate plane: 001 Reasoning, Lines, and Transformations
(10,-9), (8,78), (6,-7), (2,-5), (0,74), (-2,73), (-4,72), (=6,~1),
(=8,0) or (—-10,1)
One of these points,(2,-5), is shown on the coordinate plane below.
Directions: Click on the grid to plot the point you want to select. You must plot a point other than point P.
Line 7 contains the points { —8, 5) and (8, —3). Plot a point other than point P with integral
coordinates that is on a line parallel to 7 and passes through point P.
b
e i sl
=L
2
Zi £
S TP -6)
Q -
[
h [ 11
12 MC D 001 Reasoning, Lines, and Transformations
13 MC A 001 Reasoning, Lines, and Transformations
14 MC D 001 Reasoning, Lines, and Transformations

Geometry
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Item Type:
Multiple Choice
Sequence MC) or Reportin . . .
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TEID)
15 TEI Typed Response: 43 (and all equ1valent answers) 001 Reasoning, Lines, and Transformations
Directions: Type your answer in the box.
Lines r and s are cut by a transversal.
143°
(3x +14)°
What value of x proves that rlls ?
x= 43 |
16 MC C 001 Reasoning, Lines, and Transformations
17 MC C 001 Reasoning, Lines, and Transformations
18 MC D 001 Reasoning, Lines, and Transformations
19 MC D 002 Triangles
20 MC D 002 Triangles

Geometry
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Item Type:
Multiple Choice
Sequence MC) or Reportin . . .
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TEID)
21 TEI The number 19 must be placed in the box on the left, and the number 67 002 Triangles
must be placed in the box on the right.
Directions: Click and drag each selected number to the correct box.
The lengths of two sides of a triangle are 24 inches and 43 inches. What is the range of possible
lengths, in inches, for the third side, x, of this triangle?
“ 5 | | 20 |[ 24 || 30 || 335 | \101.5”
22 MC D 002 Triangles
23 MC A 002 Triangles
24 MC B 002 Triangles
25 MC C 002 Triangles
26 MC A 002 Triangles

Geometry
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Item Type:
Multiple Choice
Sequence MC) or Reportin . . .
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TEID)
27 TEI “Reflexive Property” must be placed in the second row, second column 002 Triangles
of the table; “Side-Side-Side (SSS) Theorem” must be placed in the third
row, second column of the table.
Directions: Click and drag each selected reason to the correct box.
Given: Figure 4 BCD with diagonal AC
AB=DC;BC=4D
A B
,S‘
Complete the proof of AABC = ACDA by selecting the reasons for the last two statements.
B
cangruent triangles
Statements Reasons
R - —
(SAS) Theorem
‘ AC=AC H Reflexive property ‘
EETEE N
(HL) Theorem
28 MC D 002 Triangles
29 MC C 002 Triangles
30 MC D 002 Triangles
31 MC C 002 Triangles
32 MC D 002 Triangles

Geometry
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Item Type:
Multiple Choice
Sequence MC) or Reportin . . L.
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TEI)
33 TEI Typed response: 9 (and all equivalent answers) 003 Polygons, Circles, and Three-Dimensional Figures
Directions: Type your answer in the box.
Given: Parallelogram QRST where QR = 6x —5and RS = 4x +13
o T
6x—-5 y,
o
R axy13 S

What value of x proves this parallelogram is a rhombus?

x =g I
34 MC B 003 Polygons, Circles, and Three-Dimensional Figures
35 MC C 003 Polygons, Circles, and Three-Dimensional Figures
36 MC D 003 Polygons, Circles, and Three-Dimensional Figures
37 MC A 003 Polygons, Circles, and Three-Dimensional Figures
38 MC D 003 Polygons, Circles, and Three-Dimensional Figures
39 MC B 003 Polygons, Circles, and Three-Dimensional Figures
40 MC A 003 Polygons, Circles, and Three-Dimensional Figures
41 MC B 003 Polygons, Circles, and Three-Dimensional Figures
42 MC C 003 Polygons, Circles, and Three-Dimensional Figures
43 MC B 003 Polygons, Circles, and Three-Dimensional Figures
44 MC A 003 Polygons, Circles, and Three-Dimensional Figures
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Item Type:
Multiple Choice
Sequence MC) or Reportin . . L.
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TED)
45 MC B 003 Polygons, Circles, and Three-Dimensional Figures
46 TEL The numbers 27 and 125 should be placed in the boxes. The order of 003 Polygons, Circles, and Three-Dimensional Figures
the numbers in the boxes does not matter, since this question did not
specifically state the order in which the volumes of the two spheres
should be compared.
Directions: Click and drag each selected number to the correct box.
The ratio of the lengths of the radii of two spheres is 3:5. What is the ratio of the volumes of
these two spheres?
(N E
47 MC A 003 Polygons, Circles, and Three-Dimensional Figures
Geometry Page 7



Item Type:
Multiple Choice
Sequence MC) or Reportin . . L.
1 (MC) Correct Answer P g Reporting Category Description
Number Technology- Category
Enhanced Item
(TEID)
48 TEI The point 645 5) must be plotted on the coordinate plane. 003 Polygons, Circles, and Three-Dimensional Figures
Directions: Click on the grid to plot the point you want to select.
Plot the center of the circle defined by the equation (x + 4)? +({y —5)* = 32,
< BT, -
I A O Y
:;'l'
49 MC C 003 Polygons, Circles, and Three-Dimensional Figures
50 MC A 003 Polygons, Circles, and Three-Dimensional Figures

Geometry
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Spring 2014 Released
Geometry Standards of Learning Test

Total Raw Score to Scaled Score Conversion Table

Total Raw Score
If you get this many items

Total Scaled Score

Then your converted scaled score

correct: is:
0 0
1 223
2 254
3 273
4 287
5 298
6 308
7 316 A total raw score (left
8 323 column) is converted to a
9 330 total scaled score (right
10 336 column). The total scaled
11 341 score may range from 0 to
12 347 600.
13 352
14 357 A scaled score of 400 or
15 361 more means the student
16 366 passed the SOL test, while
17 370 a scaled score of 399 or
18 374 less means the student did
19 378 not pass the test. A scaled
20 382 score of 500 or more
21 386 indicates the student
22 390 passed the SOL test at an
23 394 advanced level.
24 398
25 402
26 406
27 410
28 414
29 417
30 421
31 425
32 430
33 434
34 438
35 443
36 447
37 452
38 457
39 462
40 468
41 474
42 480
43 487
44 495
45 505
46 516
47 529
48 548
49 579
50 600
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